SUPPLEMENTARY TABLE 6.  Logistic regression model for predicting DA+ (n=57) vs AW (n=147) in all HDI exposed subjects
	Model term
	Estimate, β
	S.E.
	χ2
	OR (95% CI)
	p-value

	Intercept
	-4.0081
	1.0558
	14.41
	
	<0.001

	Age in years
	0.0673
	0.0263
	6.54
	1.07 (1.02, 1.13)
	0.010

	Smoking 
     Ex-smoker vs. never smoked
	0.6476
	0.3784
	2.93
	0.83 (0.28, 2.46)
	0.087

	     Current smoker vs. never smoked
	-1.4827
	0.4655
	10.14
	0.10 (0.02, 0.41)
	0.001

	Months of exposure
	0.0179
	0.0053
	11.57
	1.02 (1.01, 1.03)
	<0.001

	NAT2rs2410556
	0.5539
	0.2404
	5.31
	3.03 (1.18, 7.77)
	0.021

	NAT2rs4271002
	1.4217
	0.3385
	17.64
	17.17 (4.56, 64.73)
	<0.001

	NAT1rs11777998
	0.5584
	0.3997
	1.95
	3.06 (0.64, 14.64)
	0.162

	NAT2rs4271002*NAT1rs11777998
	-3.0468
	1.1135
	7.49
	0.05 (0.01, 0.42)
	0.006


     a Odds of DA+ when minor alleles are present at both SNPs vs. when only major alleles are present at one or both SNPs. Goodness of fit: χ2= 13.6 with 8 df, p = 0.092.
